Pa3bueHune otaesibHbIX Y/1eHOB Ha c/iaraeMmble (Kak 6YKBEHHbIX, TaK

N YUCJ/10BbIX)

1) x"3 + 1991x + 1992 =0

2) XN3 = 3x"N2 +2 =0

3) XN — xN3 — 13x"2 +x+ 12 =0

4) Xx"3 + 4x"2 =5 =0

5 x" — x"3 = 7/x"2 +x+6=0

XN3 4+ 1991x + 1992 = 0;
XN3+1991x+1991+1=0;
(X"N3+1)+1991(x+1)=0;

(x+1)(xN2-x+1)+1991(x+1)=0;

(x+1)((x"2-x+1)+1991)=0;
(x+1)(x"2-x+1992)=0;
x1=-1

XN2-x+1992=0;
D=1-4*1992<0,D<0;

no solutions

Answer: -1,

XN3+1992x-x+1992=0;
XN3-x+1992x+1992=0;
X(xN2-1)+1992(x+1)=0;
X(x-1)(x+1)+1992(x-1)=0;
(x+1)(x(x-1)+1992)=0;
x1=-1

(x"N2-x+1992)=0;
D=1-4*1992<0,; D<0

no solutions

Answer: -1,

XN3 = 3x"2 +2 =0,
XN3-2XN2-x"N2+2=0;
XN3-XN2-2x"N2+2=0;
XN2(x-1)-2(x"N2-1)=0;
x"N2(x-1)-2(x-1)(x+1)=0;
(x-1)(x"2-2(x+1))=0;
x1=1;

xXN2-2x-2=0
D=4+8=12; D>0,
x2=(2-V12)/2=2-2V3/2=1-V3;

x3=(2+V12)/2=2+2V3/2=1+V3;

Answer: 1;1-V3;1+V3;

XN3 + 4x~2 — 5 =0;

XN3 - XN2+5xN2-5=0;
X"N2(x-1)+5(x~2-1)=0;
XN2(x-1)+5(x-1)(x+1)=0;
(x-1)(xN2+5(x+1))=0;
x1l=1

XN2+5x+5=0
D=25-20=5; D>0;
x2=(-5-V5)/2;
x3=(-5+V5)/2;

Answer: 1;(-5-V5)/2;(-5+V5)/2;

XN — X3 = 7x"N2 +x+6 =0,
XNG-XN3-6XN2+6-x"2+x=0;
X"N3(x-1)-6(x"2-1)-x(x-1)=0,

XN3(x-1)-6(x-1)(x+1)-x(x-1)=0;

(x-1)(x"3-6(x+1)-x))=0;
x1=1;

XN3-6x-6-x=0;
X(xN2-1)-6(x+1)=0,
X(x-1)(x+1)-6(x+1)=0;
(x+1)(x(x-1)-6)=0;
x2=-1;

XN2-x-6=0,;

X3=3;

x4=-2;

Answer: 1,;,-1,3;-2;

XN — XN3 — 13x"2 + x + 12 =0,
XN3(x-1)-12X"N2-x"2+x+12=0;
XN3(x-1)-12x"N2+12-x"2+x=0;
XN3(x-1)-12(x"N2-1)-x(x-1)=0;
XN3(x-1)-12(x-1)(x+1)-x(x-1)=0;
(x-1)(x"3-12(x+1)-x)=0;

x1=1

xXN3-13x-12=0,

XN3-12x-x-12=0
X(x"N2-1)-12(x+1)=0;
X(x-1)(x+1)-12(x+1)=0;
(x+1)(x(x-1)-12))=0;

x2=-1;

XN2-x-12=0;

D=1+48=49;D>0; VD=7,
xX3=1-7/2=-3;

x4=1+7/2=4;

Answer: 1;-1;-3;4




